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e ZEMEHE —BibER RN TRIE SALZEAE S U EMEEFR BN TRDE
S0, co SPM Ox NO, PM2.5
B B F 19 {E A% 0.04ppm LL T T(H F 19 fE A% 10ppm L F T|E F 9 E A 0.1meg/m® LU T B ¥ 9 fE A 004[F F 4 fE A 150 g/m* U F
BEEE BY. o IBMENBY. h I EMEOsTHY. Ao 1w mE) F BN ey sy ao. B @
X 0.1ppmEL T BSR4 A5 200pm AT #%0.20mg/m* AT YW X 1E Zh B T35 ¢/m AT
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T BT AF B & (ppm) ) [ (B) (ppm) () (=) (mg/m®) B [ (B) (B FED) (ppm) (p g/m®) (0 g/m%
i &A@ - 0.047 0 0 212 0.021
A ] 0.044 0 0 96 (9.4) (27.8)
%8 ES 0.043 0 0 238 0.020
i &l 0.002 0 0 0.044 0 0 237 0.022 11.5 30.5
- 5 BT 0.044 0 0 258 0.020 (8.6), (21.2)
th i 0.038 0 0 343 0.015 (8.0, (23.8)
& 34 0.002 0 0 0.045 0 0 213 0.028 125 31.9
5 B 0.046 0 0 238 0.028 (11.0) (28.7)
if] 2] 0.041 0 0 291 0.020 (10.5) (24.0)
t 4+ @ 0.044 0 0 264 0.023 (9.4) (26.3)
/S # 0.045 0 0 268 0.014 1.2 30.5
a #EE 0.002 0 0 (0.045), 0 0 35 0.017 (19.1) (41.3)
i &E # 0.039 0 0 54 0.022
A &m0 I 0.002 0 0 0.064 0 0 61 0.016
b T il b 0.002 0 0 0.040 0 0 70 0.015
8 A8 2] 0.042 0 0 85 0.020 (16.7) 37.1)
& ABlAE 3 0.002 0 0 0.054 0 0 237 0.018
% H|% H 0.002 0 0 0.044 0 0 246 0.020
FRE 3 P # 0.001 0 0 (0.029) 0 0 358 (0.005)
[TTRH 1T} T 0.001 0 0 0.048 0 0 149 0.012)
wno B ] 0.038 0 0 243 0.015
ORI ¥ 0.049 0 0 70 0.021
P i1 PN 0 0.045 0 0 272 0.018 127 30.4
B|R #E & E E 0.002 0 0 0.3 0 0 0.040 0 0 296 0.006 105 25.8
E R|E - 0.039 0 0 261 0.010
B X% Pl 0.061 0 0 269 0.013
E#BXx X I 0.041 0 0 139 0.015
W &l bl 0.040 0 0 0.028 (9.0, (28.5)
& s 0.002 0 0 0.054 0 0 0.029 13.2 32.0
B x BT 0.041 0 0 0.027 11.5) (29.2)
L& B 0.7 0 0 0.044 0 0 0.039 12.3 31.2
ke 3 E=3 & 0.043 0 0 0.025 ®.1) (24.3)
g i 0.6 0 0 0.046 0 0 0.024
B|E B|E £ B # 0.6 0 0 0.051 0 0 0.032
X &lE N B OB 0.055 0 0 0.022
4 W& B B # 0.044 1 0 0.033 12.0 33.3
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—BILER(NO) Z Bt E R (NO) ERBIEW(NO+NO,)
B 5 S B 5 8 (B T 8 ] g (900 S
AL TR e R PN Bl o |#E | WE || 1PN 0000m EBR 00k00m Bl E| g | SERT | o | W || HIE| (2 )| o,
R | FH Bl gg00i | B2 B DEEE ;TE He %2 OvOGDDmU-FQ 989 h(o;oﬁ_ppmi— A% i) DEREE 989%E | (NO+NO,)
£l A(BHETORE BABH
(B) | #5RD | (pm) | (pm) | (ppm) | (B) | EFR) [ (em) [ pm) [ (B) | (%) | (B) [ (%) | (ppm) () (B) | (#5RED) | (pm) | (ppm) | (ppm) (%)
i &l 2| £ | 364| 8602| 0003 0.122] 0014 364] 8602| 0.008| 0.054 o 00 o 00 0021 o 364| 8602| 0.011[ 0.159| 0.036 74.6
% #| 1 | 363] 8660] 0001| 0.061] 0008 363] 8660 0.009| 0.058 o 00 o 00l 002 o 363| 8660 0.010[ 0.104] 0.027 86.9
L] | & | 361| 8653] 0001 0095 0009 361 8653 0010 0.055 o 00 o 00 0022 o 361| 8653] 0012 0139 0.028 87.3
=3 Br| 4 | 362| 8662| 0001 0.131] 0008 362 8662 0.009 0.049 of 00 o 00 002 o 362| 8662| 0010[ 0173 0.028 88.2
& wi| 4 | 364| 8623| 0001 0043 0004 364 8623 0006 0051 o 00 ol 00l o015 o| 364| 8623] 0007| 0.074] 0.020 855
L2l | #ET | 362 8656 0.005 0.191 0.027 362 8658 0.013 0.060 0 0.0 0 0.0 0.028 0| 362 8656 0.018 0.249 0.051 721
- i3 & 1E 330 7892 0.003 0.155 0.019( 330 7892 0.012 0.055 0 0.0 0 0.0 0.028 0| 330 7892 0.015 0.210 0.043 78.3
i || f£ | 363 8660| 0002| 0069| 0010| 363 8661| 0.009| 0.054 o 00 o 00l 002 o 363| 8660| 0012 0.106) 0.027 80.2
+ 4t m| & | 361 8622 0003 o0.117| 0017| 361| 8622| 0010| 0061 o 00 o 00l 0023 o 361| 8622| 0013 0.154] 0.039 77.4
= #| 1 | 361| 8631] 0001] 0044] 0005 361| 8631) 0.006| 0.038 o 00 ol 00l 0014 o 361| 8631] 0007| 0.074] 0018 89.1
' %\ #| {x | 362| 8651| 0002| 0.132| 0007| 362| 8651] 0.008 0.051 o 00 ol ool 0017 o 362| 8651| 0009 0.165) 0.023 79.9
15 (& 2 B 359 8634 0.002 0.143 0.012( 359 8634 0.009 0.055 0 0.0 0 0.0 0.022 0f 359 8634 0.011 0.194 0.034 79.7
£ 3PN (1= [T - 320 7738 0.001 0.045 0.006( 320 7738 0.005 0.039 0 0.0 0 0.0 0.016 0| 320 7738 0.006 0.069 0.020 86.7
S UGBS iU | £ | 363] 8673] 0001| 0.070| 0006 363] 8673| 0.006| 0.046 o 00 o 00l 0015 o 363| 8673| 0007 0.100[ 0.020 83.8
=1 = &| 4 | 362| 8674| 0004 0106 0019 362 8674 0009 0.043 o 00 o 00 002 o 362| 8674| 0013[ 0133 0.039 70.6
& BlE 7B % | 360] 8687| 0002| 0066 0009 360 8687 0.008 0.039 o 00 o o0l o018 o 360| 8687| 0.010[ 0.090 0.026 76.3
21 S || £ | 361| 8682 0002| 0059 0013] 361| 8682| 0.009| 0041 o 00 o 00 002 o 361| 8682[ 0011 0078 0031 78.7
ERE 1P #| & | 245| 5861 (0.001) 0.044 (0.003) 245/ 5861 (0.002)) 0.026 o o0 of 00| (0.005) o 245| 5861 (0.003)| 0.045| (0.007) 79.9
1] T J| R 244 5874| (0.001)] 0.057| (0.004)| 244 5874| (0.005); 0.033 0 0.0 0 0.0| (0.012) 0| 244 5874 (0.006) 0.088| (0.015); 80.7
B |n B &| 1 | 321] 7705| 0002 0062 0008 321[ 7705/ 0.006 0.035 0 0 0 o| 0015 o 321| 7705| 0007| 0093 0.022 79.0
o FE|R F| 1= | 359| 8684| 0004] 0077| 0019 359| 8684| 0.010[ 0.061 o 00 o 00 0021 o 359| 8684| 0.014| 0113 0.040 70.8
P 1| P #| 1 | 362| 8707| 0002| o0.01] 0012 362| 8707| 0.008 0.050 o 00 ol ool o018 o 362| 8707| o0.010[ 0.117[ 0.030 78.2
% w|E®mEE| & | 280 6709| 0000 0006 0002| 280 6709| 0002| 0021 o 00 o 00| 0006 o 280| 6709| 0003 0.027] 0.007 88.2
£ R|ZE #8| 1 | 363| 8681| o0001] 0062| 0003 363] 8681| 0.004] 0.033 ol o0 o 00| o010 o 363| 8681| 0005| 0.074] 0014 87.1
=3 * E HET | 343 8208 0.001 0.030 0.003( 343 8208 0.005 0.038 0 0.0 0 0.0 0.013 0| 343 8208 0.005 0.068 0.017 88.4
HEWMBE X I| & 363 8708 0.001 0.081 0.006( 363 8708 0.006 0.046 0 0.0 0 0.0 0.015 0| 363 8708 0.007 0.107 0.020 82.2
i &E #| % | 362| 8649| 0008 0.301] 0025 362| 8649 0.016] 0.052 o 00 o 00 0028 o 362| 8649 0024 0326 0.052 66.7
=] & #| #& | 362| 8658] 0011] 0103 0024 362| 8658 0.016] 0.059 o 00 o 00 0029 o 362| 8658] 0027 0.145] 0.052 60.9
X Br| 75 | 361| 8653| 0011 0103 0029 361 8653 0015 0057 o 00 o 00 0027 o 361| 8653] 0026 0.148) 0.054 57.8
b2l B |# T| 361| 8640| 0030 0454] 0095 361| 8640 0.020( 0.082 o 00 4 11| 0039 o 361| 8640| 0050 0.534] 0.132 406
# =3 | & 363 8659 0.008 0.126 0.022( 363 8659 0.014 0.058 0 0.0 0 0.0 0.025 0 363 8659 0.022 0.176 0.043 63.8
i R’ & 362 8606 0.008 0.102 0.025( 362 8606 0.011 0.050 0 0.0 0 0.0 0.024 0| 362 8606 0.019 0.146 0.045 56.8
B |18 #E[EZ B & | 61| 8668 0016| 0274| 0057| 361| 8668 0016 0.080 o] o0 o 00 0032 0| 361 8668| 0032| 0315 0.089 48.9
A W[H B #|% x| 364| 8711 0017 0157 0037| 364 8711| 0.012| 0056 o 00 o 00 0022 o 364| 8711] 0029 0.207| 0.058 416
% m|2EBB#%| & | 361| 8644| 0024| 0.187| 0051 361| 8644| 0019 0.085 o 00 o 00l 0033 o 361| 8644| 0043 0.238) 0.082 446
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(1) EFH1E (ppm)

“EIEE R (NO,EFELEL)

(RigIREL 5]

B R 2m B #EA T B|A B ERR225EE | FRU23EE | FRR24AFEE | FR25FEE | ER26EE

— & B & | | E 0.008 0.008 0.008 0.007 0.006

5 & 1E 0.010 0.010 0.009 0.009 0.009

i | I 0.010 - - - 0.013

& = % 0.011 0.010 0.010 0.011 0.008

] &) 5] 0.011 0.011 0.011 0.011 0.010

+ & 0.013 0.013 0.012 0.012 0.012

b3 BTl = 0.011 0.012 0.010 0.011 0.009

1T} H £ 0.010 0.011 0.010 0.010 0.009

£t 4 H =3 0.011 0.011 0.011 0.011 0.010

I # # 0.007 0.007 0.007 0.007 0.006

a E|B & 1% 0.009 0.008 0.009 0.008 0.008

= E|E 3 i) 0.010 0.010 0.010 0.010 0.009

X R 5] 0.004 0.006 0.007 0.006 0.005

S fil Bl W A =3 0.007 0.006 0.005 0.006 0.006

H a8 i=) 1 0.011 0.012 0.011 0.010 0.009

b=l BlE A 5] 0.009 0.009 0.009 0.009 0.008

% H|% H % 0.009 0.009 0.009 - 0.009
A A = x 0.002 - 0.002 0.002 -
1] Jo| JT x 0.005 0.004 - 0.005 -

A 5[ 5 F 0.008 - 0.007 0.007 0.006

F Gkl i # 0.011 0.012 0.012 0.010 0.010

X X # 1x 0.005 0.007 0.009 0.008 0.008

i #EZEE x 0.003 - 0.002 0.003 0.002

£ EES R % 0.005 0.005 - 0.004 0.004

& * pic] # T 0.005 0.005 0.005 0.005 0.005

B B B&Xx &F® I 53 0.006 0.007 0.007 0.008 0.006

B # B B (K BT| 0.019 0.018 0.016 0.016 0.015

S T ] 0.021 0.020 0.018 0.018 0.016

kil i 5] 0.019 0.018 0.018 0.017 0.016

= Bl T 0.021 0.018 0.020 0.022 0.020

& i 1% 0.016 0.017 0.016 0.015 0.014

4 s i) 0.017 0.015 0.014 0.013 0.011

& EE £ B ¥ 5] 0.017 - 0.015 0.016 0.016

X BlE Il B HE#E I 0.018 - 0.011 0.014 0.012

£ & IR B # i3] 0.025 0.021 0.020 0.019 0.019
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(2) BFEHED FERI9I8%IE (ppm)

B R om B #E ® BA | 225 E | FR23EE | FR2AEE | FR25EE | FRi265EE
— f#& Bl B |& 1T} * 0.019 0.021 0.019 0.018 0.015
% % 1% 0.021 0.026 0.024 0.024 0.020

h EES I 0.025 - - - 0.028

12 S iE3 0.024 0.025 0.026 0.025 0.021

i Rl [iE] 0.024 0.027 0.026 0.028 0.022

+ W 0.028 0.030 0.031 0.031 0.028

& i) * 0.023 0.027 0.026 0.025 0.020

] H £ 0.021 0.019 0.022 0.024 0.020

£t 4t H * 0.023 0.027 0.026 0.027 0.023

I EE] iE3 0.019 0.028 0.018 0.018 0.014

=] %A & {E3 0.018 0.018 0.021 0.020 0.017
B (& % ] 0.022 0.026 0.025 0.025 0.022
X A R [i5] 0.009 0.020 0.018 0.018 0.016
S il Bl M AE 1% 0.015 0.013 0.014 0.016 0.015
=] (8 =] * 0.025 0.027 0.027 0.024 0.020
=] BlE A 5] 0.021 0.023 0.021 0.021 0.018
£ H % H * 0.020 0.021 0.023 - 0.020
A E B S 0.005 - 0.006 0.006 0.005
1] st JT x 0.011 0.012 - 0.013 0.012
A 5| 5 =3 0.017 - 0.020 0.018 0.015
F | # 5 1% 0.024 0.025 0.026 0.027 0.021
X | X Lt 1% 0.014 0.020 0.019 0.021 0.018
i #EFZKEE x 0.007 - 0.007 0.008 0.006
=z EES fE| & 0.012 0.013 - 0.012 0.010
2 * B # T 0.013 0.015 0.015 0.014 0.013
B B BX X I £ 0.015 0.017 0.019 0.018 0.015
B # B =lPN i) i3] 0.031 0.031 0.030 0.032 0.027
&= m 5] 0.036 0.035 0.033 0.035 0.029

o 13 [i&] 0.034 0.033 0.035 0.033 0.028

& Bl T 0.038 0.035 0.039 0.040 0.039

& i * 0.028 0.031 0.032 0.030 0.025

it Lic} 5] 0.029 0.029 0.029 0.027 0.024

i E|E £ B ¥ [iE] 0.030 - 0.035 0.036 0.032
X B N B BEE T 0.037 - 0.025 0.026 0.022
& R|% B B # i) 0.045 0.044 0.038 0.035 0.033
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((E3BPE4EEL 1H ARKRREDESR])
VER3—4—1—-6 ZFLHE (SO, TR 26 FE. FRHI{E)
(Rt KR
- 18 BB A e B FH(E T @ aEEEEOE mumenns
WP e BE;E F (0.1ppmEHBZ 0.04ppm & #8100 (18 OD|0.04pem E18 & 1= 5757 TR
& | HfE |EEREE(RA-BHEE | 2 % [&|BHH 28 L BB = A _
BEs |mETi | BE gl B | B0 | O EEIMEL AT BT g 2 o0 e e 0 0dopm % 12 2| s | R0 B
= B | T M i
(8) | (B%R) | (ppm) | (BERE) | (%) | (B) | (%) | (ppm) | (ppm) (B x-£&O) (8) GEO-& x)
Mmoo L fE| 7 | 359 8643| 0.001 ol 00 ol 00| 0013 0.002 O 0 (e} o
= - & | F 360 8627| 0.001 o[ 0.0 0| 0.0 0.015/ 0.002 O 0 (@) (@]
A H A & E 361 8654| 0.000 o[ 0.0 0| 0.0( 0.013| 0.002 O 0 (@) (@]
X 5 I L | ] 319 7738 0.001 o[ 0.0 0| 0.0 0.008| 0.002 O 0 (@) (@]
® S LB|IR W 3| & 361 8702| 0.001 o[ 0.0 0| 0.0 0.006/ 0.002 O 0 (@) (@]
a5 BlE Bl & 362 8705| 0.001 o[ 0.0 0| 0.0 0.006/ 0.002 O 0 (@) (@]
] |4 H| 1% 360 8655| 0.001 o[ 0.0 0| 0.0 0.030| 0.002 O 0 (@) (@]
F3 b |l * 363 8659| 0.000 o[ 0.0 0| 0.0 0.009| 0.001 O 0 (@) (@]
B (W W JT| R | 362 8701| 0.001 o[ o0 0| 0.0| 0.004| 0.001 (@] 0 (@] o]
br=:] AEZKE E X 362 8624( 0.000 0| 0.0 0| 0.0 0.006 0.002 O 0 (@] O
BHER | B|E | B | 361 8579| 0.000 o[ o0 0| 00| 0.013| 0.002 (@] 0 (@] o]
V&R3—4—1—-7 ZBRILME (SO, FFLIL)
(RETREL 5]
(1) EFH{E (ppm)
B K om B #&A E BA B FRR22EE | FRI23EE | FR24%EE | FR25FEE | FR26EE
— fi& B &h 1] % 0.001 0.000 0.000 - -
o ¥ #T 0.001 - - - 0.001
E‘-’a’ il iz 0.001 0.000 0.000 0.001 0.001
E=l k=l A & 0.001 0.000 0.000 0.000 0.000
N [ = || . i 0.001 0.001 0.001 0.001 0.001
S filk AEIs i B £ 0.001 0.001 0.001 0.001 0.001
=1 ABla A8 i 0.001 0.001 0.001 0.001 0.001
5% H|% H & 0.002 - 0.001 0.001 0.001
H, EIEN e *x 0.000 0.000 0.000 0.000 0.000
] B 1] b 0.001 0.000 0.001 0.001 0.001
b sEFEE *x 0.001 0.000 0.001 0.001 0.000
B B Bl &lE i} [ - - - 0.000 0.000
(2) BEHED2%E5ME (ppm)
B K om B #&A E BA B FERR22EE | FR23FEE | FR4FE | FR25FE | FR265FE
— fi& B &h 1] & 0.002 0.002 0.002 - -
e % #T 0.002 - - - 0.002
i il izl 0.002 0.002 0.002 0.002 0.002
a k=l & E 0.002 0.001 0.002 0.001 0.002
X [ =T | I i 0.003 0.002 0.002 0.003 0.002
= filk A W B £ 0.003 0.002 0.002 0.003 0.002
=1 ABla a8 i 0.004 0.002 0.002 0.002 0.002
ES EIES H = 0.004 - 0.002 0.003 0.002
, EIEN & * 0.001 0.001 0.001 0.001 0.001
] JT(Ll vl 0.002 0.001 0.001 0.001 0.001
i aE & E E X 0.003 0.002 0.003 0.002 0.002
B B Bl &lE i} 5] - - - 0.002 0.002
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X At

(55 38P%6 4 56

161 AKIRBEDR=E]

Vv#%3—4—1-—8

FHERLFIRYE (SPM: E 5K 26 £ F£RHE)

(B ]

. ol a | & [iomes BT arnpl? T 9 @ a{EAEROLE RREEONS
BR% |mEd | B& | nlm | e | e sleEnzoms|”T T R b g ME2EERL R0 jong/mt £ | e | S
o Z f= B #|F & |F &
(B) | B5R) [(mg/m®)| (BERA) [ (%) (8) (%) [ (mg/m®) [ (mg/m®) (B x-$|&O) (2 (EO-& x)
W &lE =| £ | 364 8706 0.018 0 0.0 0 0.0 0.127 0.047 e} o O o
& g & | 360 8664 0.018 0 0.0 0 0.0 0.132 0.044 e} of O o
% & &£ | 363 8704| 0.018 0 0.0 0 0.0 0.097 0.043 (0] o] O o
Lié] fE| & | 363 8691| 0.014 0 0.0 0 0.0 0.097 0.044 (0] o] O o
& BT| 1£ | 363 8707| 0.018 0 0.0 0 0.0 0.122 0.044 (0] of O (@)
h | £ | 344 8276 0.012 0 0.0 0 0.0 0094 0038 e} of O o
th [ #T | 365 8700 0.018 0 0.0 0 0.0 0.190[  0.045 e} of O o
= + #B| £ | 364 8698 0.019 0 0.0 0 0.0 0.086 0.046 e} of O o
] £ | 365 8718| 0.013 0 0.0 0 0.0 0.083 0.041 (@) of O (@)
t 4 H| &F |363 8695| 0.017 0 0.0 0 0.0 0.181 0.044 (@) of O (@)
5 #| x| 362 8682 0.019 0 0.0 0 0.0 0.101 0.045 e} o] O (@)
e | F | 246 5962( (0.018) 0 0.0 0 0.0 0.095|  (0.045) o -— O -
B EE Z| & | 363 8692 0.015 0 0.0 0 0.0 0.093 0.039 ¢} o] O O
#& |K & N O & |318 7680 0.028 0 0.0 0 0.0 0.155 0.064 (0] o] O (@]
S AB|R W B & | 362 8672 0.013 0 0.0 0 0.0 0.098 0.040 e} o O o
B &8 H| | 353 8506| 0.015 0 0.0 0 0.0 0.171 0.042 (@) of O O
s 3Els B & | 362 8676 0.019 0 0.0 0 0.0 0.099 0.054 e} of O o
- M| £ | 361 8663 0.015 1 0.0 0 0.0 0.254| 0044 e} o| x o
o En #| x| 232 5595( (0.012) 0 0.0 ] 0.0 0.078| (0.029) e} -—| O -
B (L W | & | 339 8152| 0.018 0 0.0 0 0.0 0.150 0.048 (@) of O O
wno B B[ & | 321 7720( 0.015 0 0.0 0 0.0 0.079 0.038 (0] o] O (@)
#OFE(R FF| £ | 363 8698 0.022 0 0.0 0 0.0 0.096 0.049 e} of O o
P 1| PN #| £ | 363 8678| 0.018 0 0.0 0 0.0 0.105 0.045 e} of O o
B OBE & B B[ X |35 8577 0.018 0 0.0 0 0.0 0.084|  0.040 e} of O o
E RIE 8| £ | 363 8697 0.014 0 0.0 0 0.0 0.103 0.039 e} o O o
& X b=l #T | 360 8662 0.033 0 0.0 0 0.0 0.127 0.061 e} o O o
RWMEBX A I| & [363 8697| 0.016 0 0.0 0 0.0 0.123 0.041 o o] O o
W &R 1B & | 363 8702| 0.015 0 0.0 0 0.0 0.071 0.040 (0] of O (@)
] &= | & | 362 8682 0.021 0 0.0 0 0.0 0.105 0.054 e} of O o
x BT| 7 | 362 8680 0.017 0 0.0 0 0.0 0.140  0.041 e} of O o
& BE| %I | 364 8701 0.015 0 0.0 0 0.0 0.090 0.044 o o] O (¢]
B & dn| £ | 354 8477| 0.014 0 0.0 0 0.0 0.155 0.043 (@) of O (@)
it iR & | 363 8702 0.015 0 0.0 0 0.0 0.121 0.046 (@) of O (@)
B OE|E £ B H| & |362 8677 0.021 0 0.0 0 0.0 0.170 0.051 O of O (@)
B & ) B B %I | 362 8666 0.021 0 0.0 0 0.0 0.191 0.055 e} of O o
& m|& H B B & |360 8670 0.016 1 0.0 0 0.0 0.231 0.044 e} 0| x o

O)YRIFHENBRIE B #RFEDRIEE
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((38PE 4 T8 1 81  AKIRIRDIRZE]

VR3—4—1—9 FEMFRYE (SPM: BEZEL)

(RigIREL 5]

) FETHE (mg/m?)
B KR #m B H#B % |F | FR225EE | FR23EE | FR4AFE | FR25FE | FR26EE
— fi& 3| &% 1T} 0.013 0.010 0.011 0.011 0.012
L= 7 £ 0.020 0.018 0.016 0.017 0.018
5 B & 0.019 0.021 0.018 0.019 0.018
& | T 0.015 - - - 0.018
& £ & 0.019 0.016 0.018 0.017 0.018
i | & 0.018 0.014 0.013 0.013 0.014
+ b S 0.021 0.019 0.018 0.016 0.019
= i I 0.017 0.019 0.017 0.019 0.018
] Hl & 0.021 0.022 0.021 0.014 0.013
+ 4 H| & 0.025 0.022 0.016 0.017 0.017
Iy # &% 0.020 0.019 0.017 0.018 0.019
a %R E # 0.017 0.017 - 0.016 -
& & Z & 0.029 - 0.025 0.024 0.015
X BlE )l O &) 0.030 0.025 0.028 0.028 0.028
O EBIR M E & 0.012 0.013 0.010 0.012 0.013
=] a8 |l & 0.016 0.015 0.014 0.015 0.015
a k= 8 [l 0.022 0.021 0.021 0.021 0.019
% =1ES Bl & 0.024 0.023 0.024 0.015 0.015
b F0 # X 0.024 0.023 0.024 0.026 -
1T} | x| X 0.017 0.019 0.019 0.017 0.018
0 IS1EA Bl & 0.016 0.014 0.013 0.014 0.015
kil Gkl Bl E 0.027 0.029 0.022 0.022 0.022
X X 0 S 0.020 - - 0.015 0.018
] rEZFEE X 0.019 0.014 0.019 0.017 0.018
E EES fE| & 0.015 0.014 0.013 0.015 0.014
& * bzl # T 0.030 0.031 0.026 0.029 0.033
R B BlX &£ 1 * 0.016 - - 0.016 0.016
B # B IES BI| ™ 0.018 0.018 0.017 0.017 0.017
=5 o 0.014 0.022 0.021 0.021 0.021
ko B & 0.020 0.018 0.017 0.016 0.015
s BE| #T 0.023 0.023 0.015 0.015 0.015
& il RS 0.016 0.016 0.017 0.014 0.014
it B 7 0.018 0.013 0.014 0.015 0.015
= EEEEH & 0.020 - 0.017 0.017 0.021
X 3|8 )1l B BE| % T 0.025 0.027 0.027 0.024 0.021
& REZBREH & 0.019 0.016 0.017 0.015 0.016
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((E3BPE4EEL 1H] AKIRREDERSR]
(2) BEHIED2%EIME (mg/m>)
B R #|Wm B #E % |F B FR224EE | FR23EE | FR4AEE | FR25EE | FR26EE
— fi& 3| &% wf & 0.043 0.033 0.032 0.036 0.038
=1 7 * 0.047 0.044 0.039 0.042 0.044
5 B & 0.048 0.044 0.037 0.044 0.043
i | % T 0.044 - - - 0.045
1= = & 0.055 0.043 0.045 0.054 0.047
H | 0.058 0.037 0.035 0.048 0.044
£ MMl E 0.050 0.046 0.041 0.041 0.046
=3 BTl x 0.043 0.041 0.038 0.045 0.044
] Bl & 0.051 0.044 0.040 0.049 0.041
+ 4 H| & 0.066 0.055 0.042 0.043 0.044
I # & 0.048 0.047 0.041 0.045 0.045
a %R & 0.047 0.048 - 0.044 -
= E|E Z & 0.063 - 0.053 0.053 0.039
X Bl )il O 5] 0.073 0.057 0.066 0.066 0.064
] * 0.038 0.036 0.034 0.040 0.040
H a8 a £ 0.048 0.045 0.042 0.048 0.042
= B|E Bl & 0.055 0.049 0.048 0.051 0.054
E3 H | % H £ 0.056 0.051 0.056 0.048 0.044
N BB E S 0.056 0.051 0.051 0.057 -
1T} st T X 0.048 0.046 0.048 0.046 0.048
0 B gl & 0.047 0.040 0.038 0.043 0.038
F T [ F Bl E 0.055 0.049 0.046 0.050 0.049
X il BS 1 * 0.053 - - 0.044 0.045
A HEZHEE X 0.043 0.040 0.043 0.041 0.040
E3 ES | & 0.047 0.040 0.045 0.066 0.039
& * 8 # T 0.054 0.054 0.052 0.062 0.061
B B BlXx & 1 E3 0.044 - - 0.049 0.041
B # B iGN BT| ® 0.044 0.041 0.042 0.044 0.041
&= i 0.039 0.053 0.053 0.059 0.054
El B = 0.051 0.042 0.043 0.051 0.040
% Bl %1 0.056 0.056 0.039 0.047 0.044
K W & 0.044 0.043 0.044 0.043 0.043
B4 B & 0.055 0.039 0.039 0.052 0.046
iE BEZEH B 0.056 - 0.045 0.051 0.051
X ERLUNEE: T 0.061 0.062 0.067 0.061 0.055
£ RE2BREH @& 0.053 0.044 0.047 0.054 0.044
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((E3BPE4EEL 1H ARKRREDESR])
VHR3—4—1—10 —EILRFR(CO: FrL 26 FE. FH{E)
(Bt )
. 8 B R i 15| B T 1 i s ayig|R ¥ 8 ENRAREOR 1506
o] — - = = |1 B R 10ppmZ B Z 1= |4 #4 & i 1= &
| BEITE | £F |20ppmZH#E Z|10ppmEHE 2 iE o N =
| T mpy | w9 |mEfe z|Bfe 2|B_ Dlz o BHA2EUS BEHIE
RES |HEHN | B% iy B#k| o = alo = & =EiE B o1 {8 LERELI=C&|DY 10ppm % #E| SEHIH | REIM
= = = TRl A OEA - B | EME|FME
(B) | (B | (ppm) [ (EIFD [ (%) | (B) | (%) | (ppm) | (ppm) | (B % - £EO) (8) GEO-& x)
—ﬂﬁ% ,ﬁ SE EQ E -E * 362 8616 0.2 0 0.0 0 0.0 0.5 0.3 (@] 0 (@)
i &F BE-l#T | 365 8660 04 o| o0 o| o0 1.9 0.7 e} of O o)
BHB b[d pics 364| 8661 0.4 o[ 00 ol 00 1.4 0.6 (@] 0 (e} O
I EH(EZ£EH 363 8697 0.3 of 00 of 00 47 0.6 (e} of O O
VRI—4—1—11 —BRILRFR(COBRELEIL)
(RTREL 5]
(1) FFH{E (ppm)
B X ot B &E E B|A | FR225E | FR23EE | FR24EE | FR25FEE | FR26FEE
— & B|# &EEE x 0.1 0.2 0.2 0.2 0.2
W L 5| % I 0.4 0.4 0.4 0.4 0.4
B ¥ B "l B & 0.5 0.4 0.4 0.4 0.4
iF EEEBH ] - - 0.3 0.3 0.3
(2) BEHBED2%5ME (ppm)
B X ot B F&E E B|A B FRR22FEE | FR23EE | FR24FE | FR25FEE | FR265EE
— & B|@ AEHFEE =X 0.3 0.3 0.3 0.3 0.3
W L BHlE I 0.8 0.8 0.7 0.7 0.7
8B # B "l B & 0.8 0.7 0.7 0.7 0.6
& EEZEH ] - - 0.7 0.7 0.6
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(55 3 8B5E 4

SE1E

X

SERIEDRE]

VER3I—4—1—12 FAEFEXFFIH M (Ox: FRE 26 FE., FERHE)

B faﬁ BEO 1 Eﬁaidﬂ B il Eﬁaﬁédﬂ B ] B O EF_E_EI_(DEI
L|? AE M o B0 & A% 0.06ppm|fE A* 0.12ppm| 7 B R {E BB 1R
BRs |mEH| B2 R |E 8|8 E Ez‘zmﬁﬁﬁztaﬂ uiwa%&ztw%%ﬁ i fiE O 4 |IR 45 & %
Huis| % E R OHEE M O® Ty ED #EE
(8) | (F5RED (pem) | (B) | (B | (A) | (B | (ppm) (ppm)

2 E| £ | 365 5414 0.033 41| 212 0 0 0.103 0.045 x

=] Y| £ | 365 5,409 0.028 19 96 0 0 0.098 0.039 x

#8 & 1E | 359 5,295 0.035 42 238 0 0 0.105 0.045 x

et | 7 | 365 5,428 0.034 47| 237 0 0 0.096 0.045 x

— K BT| 4% | 356 5258/ 0035 50| 258 0 0 0.097 0.047 x
it & tif 4= | 365 5,408 0.038 61| 343 0 0 0.101 0.048 x

H B|#ET| 351 5183 0032 43| 213 0 0 0.103 0.045 x

+ % £ | 365 5414 0034 49| 238 0 0 0.098 0.046 x

th H| £ | 365 5415 0.034| 53| 291 0 0 0.096 0.046 x

+ 4t B £ | 365 5,399 0.034| 43| 264 0 0 0.110[  0.045 x

= #| £ | 365 5,396 0035 50| 268 0 0 0.094|  0.046 x

| BA #H F | 364 5364|  0.026 6| 35 0 0 0.073 0.034 x
R | ™ | 363 5,329 0.030 10 54 0 0 0.075 0.039 x

B2 |K fE N O | 327 4,802 0.031 11 61 0 0 0.071 0.039 x
K[ALGB|S Al B 1E | 365 5,392 0.032 13 70 0 0 0.081 0.041 x

B A|A Al £ | 365 5,383 0.031 15| 85 0 0 0.074|  0.041 x

5 B|E B | 365 5,393 0.035 49 237 0 0 0.095 0.046 x

C | 3 H| £ | 365 5,373 0.032| 42| 246 0 0 0094 0044 x

o FR 7| & | 365 5,389 0036 47| 358 0 0 0.096 0.047 x
Tl JT| K | 365 5400 0034| 32| 149 0 0 0.091 0.044|  x

N LN B[ 1E | 325 4,786 0.036 44| 243 0 0 0.096 0.047 x

o FF|F fF| £ | 365 5,369 0.030 18 70 0 0 0.082 0.041 x

B 1x % M E | 365 5,395 0.033 47( 272 0 0 0.094 0.044 x
W NEmEE K| 365 5412| 0039 43| 296 0 0 0.091 0.046 x

E RE fE| 1 | 365 5,411 0.035 42| 261 0 0 0.088 0.046 x

& k| @& |#I| 365 5,383 0.034| 52| 269 0 0 0.089 0.045 x
RWB|X A IO| | 365 5,392 0.033 29 139 0 0 0.082 0.042 x

S'Izﬁ

]
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((38PE 4 T8 1 81  AKIRIRDIRZE]

VER3—4—1—13 RILFEAFIFTUM O BEEIL)

(RigIREL 5]

(1) BEID1EBIEDRSIE (ppm)
B X #|th B &E F B|A | FRR22EE | FR23FE | FR24EE | FR25FEE | FR26EE
— & Bl L L E3 0.090 0.096 0.087 0.083 0.101
=1 g & 0.086 0.075 0.076 0.077 0.098
#® Bl E 0.105 0.085 0.078 0.095 0.105
h 5% T 0.083 - 0.053 0.075 0.103
& = £ 0.110 0.092 0.082 0.077 0.103
a ] [ 0.094 0.087 0.073 0.078 0.096
€ w|m| =F 0.103 0.090 0.081 0.078 0.098
& Br| 4 0.095 0.090 0.080 0.080 0.097
1] H jEd 0.094 0.095 0.080 0.083 0.096
£ & H £ 0.101 0.091 0.097 0.079 0.110
= | = 0.098 0.099 0.080 0.081 0.094
Z=) ®#(FB & E3 0.087 0.080 0.082 0.048 0.073
15 E|E £ & 0.101 0.094 0.081 0.065 0.075
X oA = L ! [ 0.087 0.084 0.080 0.063 0.071
= s || 1 5 0.086 0.075 0.074 0.057 0.081
B A8 =) £ 0.088 0.085 0.075 0.073 0.074
=1 ABlE A [ 0.109 0.084 0.078 0.082 0.095
& H|% H E3 0.090 0.088 0.076 0.083 0.094
A EAEN E S 0.099 0.080 0.073 0.081 0.096
] JT{Il T X 0.100 0.085 0.075 0.078 0.091
0 IS1EAN 5 £ 0.096 0.104 0.079 0.074 0.096
Fl I [ il = 3 0.094 0.078 0.080 0.069 0.082
N 311 N #0 E3 0.089 0.084 0.098 0.080 0.094
i PEFEE X 0.093 0.083 0.075 0.078 0.091
z ES Bl 1% 0.097 0.073 0.075 0.079 0.088
& * el # I 0.098 0.103 0.078 0.077 0.089
B W BIX A I £ 0.097 0.087 0.076 0.077 0.082

(2) BREID1EfE{EHY0.06ppmZE B A 1= %k
B X #|h B &E F B|A | FRR22FEE | FR23FE | FR24EE | FR2SFEE | FR26EE

— & Bl &(H W) % 318 488 324 191 343
=1 g & 49 58 29 45 96

#® RS 203 227 88 76 238

th EdE S I 46 - 0 30 213

= == 53 219 234 117 82 212

1 ] i 130 175 44 73 237

+ pals 1% 191 212 117 99 238

fs i) 1% 223 262 143 118 258

1] H Ed 277 299 200 178 291

£ & H % 257 269 140 123 264

= | = 254 315 135 141 268

=) e ] H & 31 21 52 0 35
5 E[iE £ & 306 156 107 10 54
X oA = L ! [ 140 55 46 6 61
= = || 1 % 80 22 59 0 70
=] Z=li=] =l = 248 55 58 70 85
=1 Ala 8 i 269 104 70 95 237
% H | % H £ 206 60 91 135 246
A EAEN HF X 156 45 66 108 358
1] JT{il T X 162 126 66 100 149
[N B\ Bl # 163 192 104 53 243
Fl I [ M = 131 61 85 26 70
X g1l S i 1 120 69 127 146 272
b HEFEE X 126 98 89 47 296
z ES B F 287 6 90 149 261
o X | # I 150 66 70 82 269
B W B|X A I % 148 79 67 80 139
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(55 38P%6 4 56

161 AKIRBEDR=E]

VHR3I—4—1—14 FEARVRAELKZR (NMHC: FRE 26 F£E. FHE{E)

(R X RR]
. oomclo~omel © sty 5
RN T %ig RIERER | FFLME 2‘?%2'?;& iﬂ#ﬁa‘lﬂr:ﬂiﬁ iﬂé’:%*“fiﬁé’:;ﬁfiﬁé
& & E& & & = = = [l 3
(B | (ppmC) | (pomC) [ (B) | (ppmC) | (ppmC) | (B) (%) (2) (%)
i & fE| 6329 0.11 0.12 277 0.29 0.02 18 6.5 0 00| EiE
B E[E # & 8592 0.11 0.12 363 0.77 0.04 36 9.9 7 19| EiEEE
—&m|E B|E Bl & 8611 0.12 0.14 362 0.60 0.04 34 9.4 5 14| E#EE
LT Bl & 6805 0.09 0.09 297 024 003 3 1.0 0 00| %
B BEXEE K 8588 0.05 0.05 355 0.16 0.00 0 0.0 0 00| EiEE
i &|E bi-{ =i 8323 0.17 0.18 364 0.78 0.06 116 319 5 14| EEER
SR = BE|#T 8287 0.16 0.18 342 1.40 0.04 72 211 38 11| EEE
VER3I—4—1—15 A3 -2RLKF(CH, - THC: 5k 26 FE. FRHE)
(BRIE X RE]
A A b £ &k & K =F
. 6~omc|0~ W6 ~ O B 6~omsic| 9|6 ~ O F i‘li
BEAGEHE  4lRdes A E$ﬁ1ﬁ$(1ﬁé§g;ﬁ;3ﬁﬁ$ﬂﬁ A lEwnmsy p (s b IISHMTSE 5
L Y E R #ﬂ%
BelE| RIEE REE| RIEME| A
(B5f) | (ppmC) | (ppmC) | (H) |(ppmC)|(ppmC)| (B [ (ppmC) | (ppmC) | (H) |(ppmC)|(ppmC)
i &3 |l & 6329 1.92 1.93 277| 209 1.79| 6344 2.04 2.05 277| 232 189 &
B & Z & 8592 1.92 1.94 363| 216 1.78| 8592 2.03 2.06 363 276 190 &
—®B|E B|5 Bl & 8611 1.95 1.97 362 223| 1.84| 8611 2.07 2.10 362| 261 193 &
LN 11 B & 6805 1.85 1.87 297| 219 1.71| 6805 1.94 1.96 297| 233 178 &
W BAEREE X 8589 1.96 1.98 355 233 1.87| 8588 2.01 2.03 355 239 192 &
ki B | 8323 1.80 1.82 364| 195 1.70| 8323 1.98 1.99 364| 257 183 &
BER L &
= Bl #£T 8287 1.87 1.89 342| 206 1.76| 8287 2.03 2.07 342 334 184 E

34



(55 3 8B5E 4

=y
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160

ASKIRIEDRE]

VER3—4—1—16 AR irib/KFR(NMHC: BFEE1E)

(1) F£F91E (ppmC)

(RigIREL 5]

B R ot B F&E O B RE 224 | TRi23EE | TR245EE | TR2sEE | Tr2eEE
— fi& Bl & [ fi&l [ 0.07 0.08 0.06 0.06 0.12
g E[E Z & 0.10 - - 0.12 0.11
a BlE A i 0.12 - 0.12 0.12 0.12
0 B Bl & 0.08 - 0.08 0.06 0.09
i@ REEZFEE X 0.06 0.08 0.05 0.06 0.05
B B Bl —lE & & 0.19 0.18 0.17 0.18 0.17
jis B[ I 0.22 0.18 0.14 0.14 0.16
(2) 6~9BFIZHEITEHETHIE (ppmC)
B R ot B FE E B RE 224 | TR23EE | TR24EE | TR2sEE | Tr2eEE
— fi& Bl & [ fi&l [z 0.08 0.09 0.07 0.07 0.12
& E[E EA ] 0.12 - - 0.12 0.12
a AlE A [z 0.13 - 0.13 0.14 0.14
A S1EN 5 =F 0.09 - 0.09 0.06 0.09
i@ REEZFEE X 0.06 0.08 0.05 0.06 0.05
B B Bl —E B A 0.19 0.19 0.18 0.19 0.18
1 HES T 0.23 0.22 0.15 0.16 0.18
(3) 6~9HFIZd(F 5 3HFME T 9{EAH0.31ppmCEIEZ - HEK
B K of B F&E E B| AR | FR22FE | FR23FEE | FRUEE | FR25EE | FR6EE
— fi& Bl & fiEl [ 5 4 2 0 0
& E[E Z & 11 - - 4 7
= B|E Bl & 1 - 0 5 5
0 B B 1 - 1 0 0
i BEEE * 0 0 0 0 0
B B Bl &R B & 11 13 8 16 5
b A ES I 62 46 29 34 38
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(5635

BEE 4

SE1E

ASERBEDRZE]

VR3I—4—1—17 HUPMFRYME (PM2. 5: F R 26 FE. FRHE)

a5 BTN @Ay |8 T o|aTyE  SOEEORS
AIE | FEHE [o/m3ZBA-BH|E o O
BES | TETR IoE i | A% L 2 0 % BREME9 8% E mmue- | Egmme-
MY BEE | BIY B
(B) | (we/m® (B) (%) | e/m®)| (ueg/m®) (BO-& %)
=) ] * 182 (9.4) 1 0.5 403 (27.8) - -
] ] i 359 115 3 038 39.8 305 O e}
& BT & 182 (8.6) 1 0.5 373 (27.2) - -
& 1] (=3 182 (8.0) 0 00 | 328 | (238) - -
ilE | % %I 363 125 4 1.1 440 319 e} e}
+ i (=3 182 | (11.0) 1 05 365 | (28.7) - -
— 5 th M (=3 182 | (105) 0 00 | 342 | (24.0) - -
t it = (=3 182 (9.4) 1 05 396 | (26.3) - -
I # * 362 1.2 4 1.1 380 305 @) ©)
B & WA a * 18 (16.7) 1 56 | 37.1 (37.1) - -
A EMmE & * 19 (19.1) 1 53 | 413 (41.3) - -
P 1| PN #n * 363 12.7 3 08 | 408 304 @) @)
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